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Use trigonometric ratios to solve for the variable in each figure below. D S\V\ 38 — 'A q 9\
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Draw a diagram and use trigonometric ratios to solve each of the following problems.
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16.  Juanito is flying a Kite at the park and realizes that all 500 feet of string are 500
out. Margie measures the angle of the string with the ground with her
clinometer and finds it to be 42.5°. How high is Juanito’s kite above the
ground?
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17  Nell’s kite has a 350 foot string. When it is completely out, Ian measures ‘rhegp‘c g(os aLl ;' 5 350
angle to be 47.5°. How far would Ian need to walk to be directly under the %
kite? o
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Mayfield High School’s flagpole is 15 feet high. Using a clinometer, Tamara . \
measured an angle of 11.3° to the top of the pole. Tamara 1s 62 inches tall. \E0 in

0 .
18- How far from the flagpole is Tamara standing? [§ LA = |¥0 in l3 a ¢ a 1)

Tamara took another sighting of the top of the flagpole from a different ‘l aia
19.  position. This time the angle 1s 58.4". If everything else 1s the same, how far X §| n l\'s - J\L\’)s

from the flagpole is Tamara standing? ~
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Change to radian or degrees: X =~ 3a%. L?\
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